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I Continued discussion of applications of v. 1
a  Rm»a: Y™ interprets "p)” as exempt for paying for (death of an) 72y (30 0*opw)
i Challenge: Why doesn’t ™ challenge himself (as he challenged 8") —the animal pays from its body — and it’s dead!
ii ~ Answer: case is where the owner slaughtered it before it could be stoned;
1 x"o: pay the 30 from its meat — 5"np that it is exempt
2 Challenge: why doesn’t y™ anticipate this answer in his attack on 8" (above)?
(a) Answer: he anticipated it, but expected a more nuanced answer (which he got)
3 Challenge: why doesn’t 8™ use this same Xnn'pR above? (instead of 2 answers — insufficient 07y or intent)
(a) Answer: in this case, the animal was slated to die, so ¥2 1913 is certainly off the table; in those cases, for one
reason or another, he wasn’t slated to die, so we would think that 9913 would be paid - %"np
iii ~Challenge: y™ certainly agrees that this case is more obviously exempt — why would he raise it as a possibility?
1 Answerl(n21n 72 7017 7): since Y™ says that a bn who injures a person pays ", 870 also pays 30 — Y"np
(a) Challenge: y™ already defeated himself, in interpreting v. 2 as meaning that on always pays 19un
2 Answer2(x817): - since we are more stringent about an 71y (always pay 30, even if he is worth less) — 8”1o that on
pays 30 - %"np (supporting xn»M1)
II Interpretation of v. 3: NWR IR WX M
a X2 Y™ - cannot be needed to teach liability for injuring woman (already in v. 1)
i Rather: juxtaposes NWR::WR —just as 1913 goes to man'’s heirs, similarly 1913 goes to woman'’s heirs (not her husband)
1 Challenge: y™ interprets v. 4 as teaching that a husband inherits his wife’s assets
(a) Answer: 1912 is unique in that it is a payment that can only come due after death ("&1) - as per the sequence
in v. 3 - to which husband doesn’t have rights of inheritance
(b) Challenge: y™ applies this rule to other ppmn, e.g. mToM 07 (v. 5)
(i) Ruling: 9y¥1 pn go to the woman or her heirs (not the husband) and 19 'n7 to the man or his heirs
(c) Answer (3717 737): »"7's ruling there is only in case of nwyn
(i) Challenge: why shouldn’t the nw get part of the payment for mTom
1. Answer: the nmn grants full rights to the father as per v. 5
(ii) Challenge: why don’t 1™ N1 prefer a non-nwW1a scenario, where her heirs seized myn (3) or ypap (n27)
1. Answer: their dispute is along the lines of 13127 (contra ¥17) who maintained that a 7191 doesn’t get a
double-portion of the appreciation of the property after death of the father; their answer here
(nw1) is according to *27, who says that he does (= here, the husband would get her portion,
unless they were divorced)
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